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No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 Fa At R6.1.25 =S| BRHEE9(<8.8) BRHEE9(<7.6) BRHEEY
2 i) R6.1.25 =SS BREE9(<84) BREE9(<84) - Janpcac N
3 ERF R6.1.25 =SS BRHE9(<8.6) BRHEE9(<6.8) - Janpcc
4 B ET R6.1.25 =SS BRHEE9(<L7.5) BREE9(<6.2) - Janpcc N
5 ERF R6.1.25 =SS BREE9(<8.9) BREE9(<84) - Janpcac N
6 ERF R6.1.25 =SS BREEI(<11) BRHEE9(<8.0) L Janpcac N
7 ERF R6.1.25 =SS BRHEEI(<11) BRHEE9(<8.8) L Janpcac N
8 ERF R6.1.25 =SS BREE3(<74) BREE3(<84) L Janpcac N
9 @A R6.1.25 =S| BRHET(<8.8) BRHET(<L7.3) BRHEY
10 ESIES) R6.1.25 LSS BRHEEI(<84) BRHEE9(<7.3) BREEY
11 BIIET R6.1.25 LSS BRHEEI(<84) BRHE3(<L75) BREEY
12 T ERFT R6.1.25 4R BHEEY(L87) BRHEET() BHEY
13 = )IET R6.1.25 LSS BRHEET(<7.8) BRHEE9(<7.9) BREEY
14 AIIET R6.1.25 4R BRHEE9(<9.0) BRHEE9(<L7.6) BHEY
15 TEH R6.1.25 4R BRHE9(<6.5) BRHE9(<8.0) BHEY
16 FEERFT R6.1.25 4R BRHEET(<11) BRHEET(<74) BHEY




BRERER

No b1 FEH APlniESE ti.L-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg
17 BB R6.1.25 LS| BRHEE3(<7.2) BRHEET(<74) BREEY
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100Bg/ kg% X 5L D0
BREHE

No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 Fa At R6.1.26 =S| BREE9(<8.9) BRHEE9(<8.5) BRHEEY
2 i) R6.1.26 =SS BRHE9(<8.6) BRHET(<L8.5) - Janpcac N
3 & Ft R6.1.26 =SS BRHE9(<8.8) BREE9(<7.6) - Janpcc
4 & Ft R6.1.26 =SS BRHE9(<8.6) BREE9(<7.8) - Janpcc N
5 &1 #t R6.1.26 =SS BREE9(<9.5) BRHEE9(<8.6) - Janpcac N
6 &1 #t R6.1.26 =SS BREEI(<1T) BREEI(<74) BRHEY
7 &1 #1 R6.1.26 =SS BRHEEI(<11) BREE3(<7.9) BRHEY
8 AIJIET R6.1.26 =SS BRHEE9(<8.0) BRHEE9(<8.2) BRHEY
9 AIJIET R6.1.26 =SS BRHEEI(<11) BRHEE9(<8.5) BRHEY
10 ZLutH R6.1.26 4R BHEEY(<82) BHEEY(<84) BREEY
11 BA R6.1.26 4R BRHE9(<9.3) BRHE9(<6.7) BREEY
12 =pai) R6.1.26 4R BHET(<11) BRHEEY(<87) BREEY
13 =pai) R6.1.26 4R BHEEY(<6.7) BRHEEY(<80) BREEY
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